

ANNEXURE - XVII D

Before the **DISTRICT ELECTION OFFICER**, WEST-JAINTIA HILLS DISTRICT Affidavit of **SHRI SHEMHOK GAROD**, Son of late Shri Khmah Thubru.

I, SHRI SHEMHOK GAROD, son of late Shri Khmah Thubru, aged 48 years, resident of Nangbah village, West-Jaintia Hills District; do hereby solemnly and sincerely state and declare as under:-

- That I was a contesting candidate at the <u>General Election</u> / Bye Election to the Legislative Assembly of Meghalaya from 3-Raliang Assembly Constituency, 2023, the result of which was declared on 2nd March, 2023.
- That I/my election agent kept a separate and correct account of all expenditure incurred / authorized by me / my election agent in connection with the above election between 4th February, 2023 (the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive.
- That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- 4. That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorized by me or by my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed there from (other than the expense on travel of 'Leaders' covered by Explanations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951).

INSTRUMENT / SL. NO. 1 4 4

DATED: 2-7 | 03 | 2-1



- 5. That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations / body of persons and other individuals supporting me, in connection with the election.
- That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.

DEPONENT

Solemnly affirmed/sworn by Shri Shemhok Garod at Jowai this 22 day of March 2023 before me.

NOTARY PURE West-Jaintia Hills District District ment of Meat

ANNEXURE - E2

	PART - I ABSTRACT STATEMENT OF ELEC	ANNEXURE
I	Name of Candidate	SHRI SHEMHOK GAROD
11	Number and name of Constituency	3- RALIANG ASSEMBLY CONSTITUENCY
ш	Name of State/Union Territory	MEGHALAYA
IV	Nature of Election	STATE ASSEMBLY ELECTION
v	Date of declaration of Result	02-03-2023
vi	Name and Address of Election Agent	SHRI DA O HIPAYA GAROD
VII	If candidate is set up by a political party, Please mention the name of the political party	PEOPLE'S DEMOCRATIC FRONT
viii	Whether the party is a recognised political party	YES

Date: 25 A/March/2023 Place: Jowai

2, 1 Signature of the Candidate :

SHRI SHEMHOK GAROD

No.	PART - II ABSTRACT OF				
1	Particulars 2	Amt. incurred/ auth. By	Amt. incurred/	Amt. incurred/ authorized	Total Election
1	Expenses in public meeting, rally, procession etc.:- Expenses in public meeting, rally, procession etc. (i.e. other than the ones with star campaigners of the political party (Enclose as per schedule-1	3 94206	-	-	6 94206
	I. b: Expenditure in public meeting rally, procession etc. with the star campaigner(s) (i.e: other than those for general party proganda) (Enclose as per schedule-2)	-		-	
п	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S.No. I above (Enclose as per Schedule-3)	13440			13440
ш	(a) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media in privately owned newspapers/TV/ Radio Channels etc. (Enclose as per Schedule-4)	-		-	-
	(b) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media in newspapers/TV/radio channels etc. owned by the candidate or by the political party sponsoring the candidate (Enclose as per Schedule-4A)	-		-	-
IV	Expenditure on campaign vehicle(s), used by candidate(Enclose as per schedule-5)	246784	-	-	246784
v	Expenses of campaign workers (Polling and counting agents) (Enclose as per Schedule -6)	-	-	-	
VI	Any other campaign expenditure (xerox charger)	-	-	-	
VII	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)	-	-	-	-
VIII	Expenses incurred on Virtual Campaign (Enclose as per Schedule 11)	-			-
	GRAND TOTAL	354430			354430

۰

A C

PART III - ARSTRACT OF SOURCE OF FUNDS RAISED BY CANDIDATE

L. No.	PARTICULARS	Amount (in Rs)
1	2	3
ı	Amount of own fund used for the election campaign (Enclose as per Schedule - 7)	381000
11	Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule -8)	
ш	Lump sum amount received from any person/ company/ firm/ associations / body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule -9)	
	TOTAL	381000

Schedules- 1 to 11: Details of Elections Funds and Expenditure of Candidate

	es in public meeting, rally, procession etc. (ie:	other than those with Sta	Campaigners of the Po	itical party)	
Expens	es în public meeting, raily, procession etc. (le:	other than those with Sta		Sources of Expenditure	
SI. No	Nature of Expenditure	Total Amount (in Rs)	Amt. Incurred/ Auth. By Candidate/ agent	Amt. increed / by Pol. Party with name	Amt. incurred by others
1	2	3	4	5	6
1	Vehicles for transporting visitors		-	-	-
2	Erecting Stage, Pandal & Furniture, Fixtures, poles Tables & Chairs etc.	17640	17640	-	-
3	Arches & Barricades etc.		-	-	-
4	Flowers/ garlands	-	-	2-	-
5	Hiring Loud speakers, Microphone, amplifiers,	66000	66000	6 -	
6	Posters, hand bills, pamphlets, Banners, Cut- outs, hoardings, Flags	-			
7	Beverages like tea, Water, cold drink, juice etc.	10000	10000	-	-
8	Digital TV -boards display, Projector display, tickers boards, 3D display	-	-		-
9	Expenses on celebrities, payment to musicians, other artists remuneration (Polling Agent /Counting Agent etc.	-	-	-	
10	Illumination items like serial lights, boards etc.	-	-	-	
11	Expenses on transport, Helicopter/aircraft / vehicles/ boats etc. charges (for self, celebrity or any other campaigner other than Star Campaigner)/Hiring of Vehicles & POL	-	-	-	
12	Power consumption/ generator charges		-	-	•
13	Rent for venue	-		•	
14	Guards & security charges	-	•		
15	Boarding & lodging expenses of self, celebrity, party functionary or any other campaigner including Star Campaigner		-	-	
16	Others expenses (Xerox & Printing Charges)	566	566	-	-
	TOTAL	94206	94206	-	-

Z

Schedule- 2

Expenditure in public meeting rally, procession etc. with the Star Campaigner(s) as apportioned to candidate (ie: other than those for general party propaganda)

	Name of Party	Amount of Expenditure on public meeting rally, procession etc. with the Star Campaigner(s) apportioned to the candidate (As other than for general party propaganda) in Rs.				
2	3	4				
		Sources of Expenditure				
		Amount by candidate/	Amount by Political	Amount by others		
NIL	NIL	NIL	NIL	NIL		
	FOTAL					
	2 NIL	2 3 NIL NIL TOTAL	2 3 Interview of the second se	2 3 4 2 3 4 NIL NIL NIL NIL NIL	Image: 2 grad matrix program and a structure of the struc	

Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display, 3 D display etc. for candidate's election campaign (ie: other than those covered in Schedule-1 & 2)

S. No.	Nature of Expenses	Total Amount in Rs	So		Remarks	
			Amt. by candidate / agent	Amt. by Pol. Party	Amt. by others	, if any
1	2	3	4	5	6	7
1	Flags	13440	13440	NIL	NIL	NIL
2						-
	TOTAL		13440		-	

Schedule- 4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

S. No			Name and address of	Total	Source	s of Expenditure	
	(electronic/ print)	media provider (print	agency, reporter, stringer,	Amount in	Amt. By Candidate/	Amt. by Pol. Party	Amt. by
	and duration /electronic /SMS company or any person to		Rs	Agent		Others	
	/ voice/ cable TV, whom charges /		whom charges /				
		social media etc.)	commission etc. paid/				
			payable, if any				
1	2	3	4	5	6	7	8
1	NIL	NIL	NIL	NIL	NIL	NIL	NIL
5							
		TOTAL					

Schedule-4 A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

S. No	Nature of medium	Name and address of	Name and address of	Total	Sources of Expenditure			
	(electronic / print)		agency, reporter, stringer,	Amount in Rs	Amt. By Candidate/	Amt. by Pol. Party	Amt. by	
	and duration				Agent		Others	
		voice/ cable TV,	whom charges /					
		social media etc.)	commission etc. paid/ payable, if any					
1	2	3	4	5	6	7	8	
1	NIL	NIL	NIL	NIL	NIL	NIL	NIL	
		TOTAL						

2.2

	lule - 5								
Details	of expenditure on campaign vehicle (s) and	poll expendit	ure on vehicle	(s) for candid	ate's elect	ion campaign			
	Regn. No. of Vehicle & Type of Vehicle	Hirin	g Charges of v	chicle			Sources	of Expend	diture
si. No		Rate for Hiring of vehicle / maintenanc e	Fuel charges (1f not covered under hiring)	Driver's charges (If not covered under hiring)	No. of Days for which used	Total amt. incurred/ auth. In Rs	Amt. by candidate/ agent	Amt. by Pol. Party	Amt. t
1	2	3a	3b	3c	4	5	6	7	8
1	ML 04 C2964 BOLERO		15036.00		32	15036	15036	-	
2	ML 05 E 9794 MARUTI 800		1932.00		18	1932	1932		
3	ML 04 B 9989 ALTO K 10		2892.00		24	2892		-	
4	ML 04 7442 SOMO	1092			1	1092	2892	•	•
5	ML 10 B 3153 SOMO	1,500.00			4		1092	•	•
6	ML 04 B 1060 SOMO	1,000.00				6000	6000		•
7	ML 05 X 4449 PICKUP	1,500.00			2	2000	2000	•	•
8	ML 04 D 1691 PICKUP	1,500.00			13	19500	19500	-	•
9	ML04 1351 PICKUP	2,000.00			7	10500	10500	•	•
10	ML 04 C 3045 ALTO 800	710.00	•	•	3	6000	6000		
11	ML04 9332 ALTO 800		-		3	2130	2130		
12	ML04 0707 ALTO 800	710.00	•		3	2130	2130	•	-
13	ML 04 C 5008 ALTO 800	710.00			3	2130	2130	-	
14	ML 04C 0805 ALTO 800	800.00	-	-	5	4000	4000	•	<u>.</u> -
15	ML 04 D 3287 ALTO 800	800.00			5	4000	4000		
16	ML 04 D 1068 ALTO 800	800.00	-		5	4000	4000	-	
17	ML 04 C 7189 ALTO 800	800.00	-	-	5	4000	4000	-	۰.
18	ML 04 0922 ALTO 800	800.00	-	-	5	4000	4000	-	-
19	ML 04 8822 ALTO 800	800.00		-	2	1600	1600		
20	ML 04 C 5109 ALTO 800	800.00		-	5	4000	4000		
20	ML 04 C 6458 ALTO 800	1,000.00		-	8	8000	8000		
	ML 04 C 1976 ALTO 800	1,000.00			8	8000	8000	-	
22	ML C7189 ALTO 800	1,000.00	-	-	8	8000	8000		
23	ML 04 C 8725 ALTO 800	1,000.00	-	-	8	8000	8000		
24	ML 04 C 5611 ALTO 800	1,000.00			8	8000	8000		
25	ML 04 C 5435 ALTO 800	1,000.00		-	8	8000	8000		
26	ML 04 C 0587 ALTO 800	1,000.00		-	8	8000	8000		
27	ML 04 D 4761 ALTO 800	1,000.00	-	-	8	8000	8000		
28	ML 04 C 3045 ALTO 800	1,000.00		-	8	8000	8000		
29	The second second	1,200.00) -		5	6000	6000		-
30		1,200.00			5	6000	6000		
31	ML 04 A 6105 MARUTI 800	725.00	· ·	-	1	725	725		•
32		725.00	-		1	725	725		-
33		800.00	· ·		6	4800	4800		-
34		800.00	-		6	4800	4800		-
35	and a standard to the own	800.00	-		3	2400			•
36		1,000.00			13	13000	2400		-
37	1000	1,000.00			13	13000	13000	•	•
38		1,200.00			5	6000			-
39		1200		-	8	9600	6000 9600	•	-
40	Provide the state of the state	1,200.00			4	4800			•
41		1,500.00			1	1500	4800	•	-
42	and a second sec	1,200.00			2	2400	1500	•	•
43		1,092.00			1	1092	2400	•	•
44		1,000.00			1	1092	1092	-	-
	TOTAL				1	246784	1000		-

. .

X

Schedule- 6

۰.

	in a cit	counture on Campaign	workers /	agents and on candidates' slips	booths (kiosk	s) outside n	olling station	e for diar 1		
SL.		Expense	son Came	aign workers			oning station	is for distribu	tion of vo	ter's
No	Venue	Nature of Expenses	Rate	No. of workers	Total amt.	Sources of Expenditure				
1	2	3a	36	No. of workers/ agents No. of kiosks	incurred/ auth. in Rs	Amt. by candidate/ agent		Amt. by Pol. Party		Amt. by
		Candidates' booths	30	3c	4		5	6		others
1		(kiosks) set up for distribution of voter's slips	NIL	NIL	NIL		ίι	NIL		7 NIL
2		Campaign workers honorarium/ salary etc.	NIL	NIL	NIL	1	dit.	NIL NIL		NIL
3		Boarding	NIL	NIL	NIL	NIL		NIL	NIL	
4		Lodging	NIL	NIL	NIL	,	NIL			NIL
5		Others (Honorium for polling /counting Agent)	NIL	NIL	NIL	NIL		NIL	NIL	NIL
		TOT	AL							
Sche	dule- 7									
			Details	of Amount of the t						
SL. No.	Date	Cash	Details	of Amount of own fund use DD/ Cheque No. etc. with						
1	2	3				awee Bank	Tota	Amount in	ls.	Remark
1	02.02.202.				-			5		6
2	14.02.202							1000		
3	18.02.202							50000		-
4	21.02.202						20000			-
5	14.02.202							75000		· -
1	TOTAL	381000						235000		-
							-	381000		-
Sch	edule- 8	Datails of Luma								
SL.N	o Name	of the Political Party	m amount	received from the party (ies	s) in cash or cl	heque or DI) or by Acco	unt Transfer		
1					ash DD/ Chee		eque No. etc. iils of drawee Total Amount in Rs		unt in Rs	Remark
1		2		3	4		5	6		7
2	-	-		-	-			-		

-

TOTAL

Schedule- 9

3

4

5

Details of Lump sum amount received from any person/company/firm/associations/body of persons etc. as loan, gift or donation etc.

-

+

-

-

	Name and address	Date	Cash				
S. No.				DD/ Cheque No. etc. with details of drawee bank	Mention whether loan, gift or donation etc.	Total Amount in Rs	Remarks
1	2	3	4	5	6	7	8
1	NIL	NIL	NIL	NIL	NIL	NIL	NIL
	TOTAL						

p.C.

Schea	lule- 10						
SLNo.	Detail	of expend	iture incurred on publishi	ng criminal an	tecedents, if any in new	spaper and TV Channel	
SEII0.	Newspaper				Mode of payment		
	Name of Newspaper	Date of publishin g	Expenses that may have been incurred (in Rs.)	Name of Channel	Date & Time of insertion/ telecast	Expenses that may have been incurred (in Rs')	(electronic/ Cheque/DD/Cast (Pl. Specify)
1	2	3	4	5	6	7	
	NIL	NIL	NIL	NIL	NIL	NIL	8 NIL
	TOTAL						

Schedule 11

SL	Nature of Virtual Campaign	Details	of election expenses incur	red on Virtua	l Campaign		
No.	(Indicate Social Media		Name of media to	Total Amount in Rs`	Sources of Expenditure		
	Platforms/ Apps/ Other means)	Content Creator	and a measure		Amount by Candidate/ Agent	Amount by Political Party	by
	NIL	NIL	NIL	NIL	NIL	NIII	others
	то	TAL			NIL	NIL	NIL

Note :

1. In Schedule 5:-

(a) Copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.

(b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.

2. In all schedules if any expenditure on goods and services, provided by the Political Party; or provided by any person/ company/ firm /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.

3. In Part -III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

Each page of the Abstract Statement should be signed by the candidate

(Revised by the Commission vide its letter no. 76/Virtual Campaign/EEPS/2022, dated 15th January, 2022, placed at Annexure-F8)

Ì